FHR2OEE FHE ) EEL 6
o B =2 (M) eSS
B IRAGH 8,750,200
1 FFRFHFIA 4,750,000
FHH-BRH 4,750,000 |ZHHA5.G00FD ?*fggﬁ?ggf‘ emat)
2 BiRkE 2,000,000 | (—%t) f& 5 RERE X1
3 fEAZE 2,000,000 [(—#) BEREHREHE (—H)EERASHAERS
4 FULA 200 |ZBEtE
5 @& 0
W SHiE 8,750,200
1 RE& 783,600
MRE B 400,000 gf;éi
ENmI S A& 183,000 .{g%ﬁﬁéé%
SIFEHEAY 164000 | "
RIEH 36,600
2 BREBEEER 3,327,000
i 852 500 |- MEEHEI—X 100A x 1]
REXBE 235,000 |-i8%& SHMH
AR 834500 -ER RAREVERL. R
o185 1 405,000 | BERUVHBRREE. BAKRF THHERE,
RIEF 0
3 EXE 774,000
MRE B 04000 | B . 25 AR 2SS
MEBAE 60,000
EERESME 150,000
4 FHE 1,000,000
REXBE 300,000 |- =:EFEME. BEMKRICRLER, HE
BIEEKRE 100,000
HEME 100,000
FNRI S AE 400,000 [-1)—2TLwk
FHor 10,000 |-CPD%$%
F5EH 90,000 |- EERHPIER. BEE R
5 Rl 2 000,000 (%J’zi%)ffg%)& i’riwg (—#) BB RBIEEE
6 FliHE 865,600 [(REELIZICETHEEE £ D B S MIRFER.

XEBERDFRIZAENELEGE., PHE. B BOIRISRATHILIIOVTE. ERIT—HFET 5,

1




FHI0OFEE FHE(XR)

= = £Z (M) =3
L NS 17,365,800
1 BEFHILA 16,500,000
MEEMBEO—X =¥ (45000M) ZE&%4(5,000M)
_ 150,000/ X 100.A X 2[H]
iR ZERH 16,500,000 |MER£ ({R¥F) 3—X -MER ¢ (R FF) 3— R
52 :&%1(90,000M ) 32 E& %4 (10,000M)
£1100,000M x 40 A x £-1[a]
2 BiEE 0
3 fgA® 0
4 HMULA 200 |[ZBEtLE
5 e 865,600 |RIEE RS
B ZHE 17,365,800
1 |& 1,229,400
REXBE 650,000 | EE
%‘%K
FNRI| S A& 202,000 | AEBRBERES
{L\‘\\A
S18 5 i A 229000 |
BRE 58,400
2 BREEREEE 11,557,700
‘MEE#I—X 100A/EH x 2[H]
ik 3,418,300 MEGRE () 72 -MEBSSE () 3%
ﬁ’ﬁ%?‘?ﬁ% 885,000 | _ 40AN/[A] X 1@ Z2EE,
- -EE MEEMBOI—X 58/H
SGE Y= 5,553,400 MER£ (R#)d—X 6HF4E
MEBE (R#FF)a—RX SHME ZEFE,
SIGEFERH 1,701,000 |-54B&% FOIREVERK. EHE. £m
3 EXE 1,492,000
ﬁ— Y] 1,172,000 §§~$$$_%®§H§_Eﬁ_%ﬁ
REZER SRBPRE. 2% BELES
HEEAE 120,000
HBESESNE 200,000
4 BHE 1,720,000
WREXEE 800,000 |- SiEF6E. BEMZKICHRLELRK, AR
BIEEMRE 200,000
HERE 240,000
FIRI& A 2 400,000 |-)—TL bk, /80Ty MERL
FHE 10,000 |-CPD & §%
FitH 70,000 |- tHiEESHPDEE F T
5 R#EE 0
6 FliE& 1,366,700 | REELIZIZH +5BEE £ D EHCIRER,

XEBERDFRIZAENELEGE., PHE. B BOIRISRATAILIIOVTE. ERIT—HFET 5,

2




